DTSSE-10

DURA-BILL

Assembly and Installation Instructions
for
Premier Three-Season Sunroom
Deluxe Three -Season Sunroom
Under
Dura-Lock or Dura-Therm

e

.'-m i

Read the instructions before starting the job. They explain the steps required
to produce a finished product that will meet factory specifications.
All references to “Left” and “Right” are while facing the home.

Check the material received. Safety is important!
Match your shipment with the Bill of Materials. Wear Safety Glasses and Work Gloves.
If there is a shortage or wrong material, Follow all safety practices while assembling
call Dealer Service immediately. and installing this product.

Dura-Bilt Products, Inc. P.O. Box 188 Wellsburg, N.Y. 14894
Dealer Service 570-596-2000 E-Mail info@durabilt.com

DURA-BILT RESERVES THE RIGHT TO CHANGE DESIGN AND/OR SPECIFICATIONS WITHOUT NOTICE.



Fasteners

Fastener Description

a :""\
w ‘ 1/4” - 20 X 1-1/2” Bolt & Locking Nut

W #12 X 2” Sloted Hex Head Screw

W #10 X 1” Hex Head Screw

ﬂm_ #12 X 3/4” Self Drilling Screw

ﬁNﬂE #8 X 1/2” Self Drilling Screw

Plastic Lag Shield

W #10 X 1-1/2” Flat Head Phillips Screw
4 (They come with the threshold)

Tools Required

Cordless Drill Tape Measure Metal Saw ~ Level Chalk Line  Clamp Hammer

Utility Knife Caulk Gun  Silicone Lubricant Spray

Nut Driver Bits with Magnetic Head: 1/4” - 5/16” - 7/16” Drill Bits: 13/64” - 1/4” Masonry

Page 1



T

Gable End Channel

Gable End Channel Clamp

<

Corner Joiner

.

Wall Channel

-

Panel Frame

|

Side Wall Stiffener Angle
1-1/27 X 1-1/4” X 1/8”

—

Gable End Attach Angle
1-1/27 X 1-1/4” X 1/16”

—

Universal Spacer

Component Descriptions

Floor Channel

Corner Brace

Wall Channel Trim Angle
1), X 1’)

The Universal Spacer is used for
1” increment variations in the walls.

Page 2







Installation Basics

The installation is completed in three stages.
1. Stage One: Layout and install Floor Channel, Mounting Rail and Wall Channel.
2. Stage Two: Install the Wall and Door Panels.
3. Stage Three: Install Roof and Gable Ends.

It is suggested that you read these instructions completely before starting the job. They detail the steps in each
of the three stages of the project.

All references to ‘Left and ‘Right are while you are facing the room from outside the room.

As in all quality construction, key elements are to be kept square, level and plumb. This is especially critical
with the Floor Channel and Wall Channel. Taking the time to install these correctly will help avoid problems
later in the project.

Because of the wide variety of patio, porch and deck floors, it is left to the judgment of the job contractor on
how best to level the Floor Channel.

The length of Front Wall is distance between the outside edge of the Side Floor Channels. Length of the Side
Walls is from the back of the Wall Channel to the front of the Floor Channel. The measurements in your
Project Planner are these outside measurements.

*If you are installing a Dura-Bilt Roof and Deluxe Three-Season Room at the same time, the Mounting Rail
is to be installed in Stage One. Establishing the Mounting Rail location is covered in these instructions.
However, you must follow the Dura-Therm or Dura-Lock instructions for proper Mounting Rail installation
procedures.

If the roof is already installed, it is necessary to raise the front of the roof several inches above the final height
of the room wall. Brace the roof solidly in position. Remove any Roof Post Assemblies not needed. If the
existing Front Header will interfere with the Deluxe Front Header, it must be removed. New screws are
provided for the new Deluxe Front Header.

Because you may encounter out of plumb home walls or some growth in the side walls of the room, the two
Starter Panels will give you the flexiblity to position them within the wall channel or to cut down their width,

if necessary. j

D |

[ &¢ DS ¢
FfF——————————————————————————-——9

Page 4




Stage One

Marking Floor Channel L.ocations

1. Find the previously determined location of the back Right Corner of the room.
Mark that location on the home at the deck level.

Get the length of the Right Side Wall from the Project Planner in your Installation Package. Mark this
dimension on the deck with a chalk line.

Helpful Hint: Use the 3’x 4’x 5 triangle method to make sure your wall is at a right angle to the home. See

Drawing. WALL CHANNEL WALL GHANNEL
3" |~—3——|
HOME -l
190/“’ ':\)0'\
e ¥
L i ) J
END WALL i \/ \/ |
WIDTH
i
-CAULK CORNER CAULK CORNER
% FLOOR CHANNEL %
JOINER: FRONT WALL LENGTH JOINER

2. Determine the location of the back Left Corner of the room. (Use the Front Wall Length given in your
Project Planner as a guide.) Mark the Left Side Wall with a chalk line the same way you marked the Right
Side Wall.

It is important to use the 3’ x 4’ x 5’ triangle method again to be sure your Left Side Wall is at a right angle to
the home.

3. Measure distance between front corners. It must be the same dimension as in your Project Planner. Then
snap a chalk line to mark the Front Wall.

Marking Wall Channel L.ocations

1. At the Back Right Corner location of the room, use a carpenter’s level and a long straight edge to continue
the line on the deck up the Right side of the home.

2. Refer to your Project Planner for the Mounting Rail height provided when this order was placed. Otherwise
refer to the Mounting Rail Height Chart in the Roof Installation Instruction Book. Then mark the point where
bottom edge of the Mounting Rail will be located. See Drawing at top of Page 6.

3. Move to the Back Left Corner of the room and repeat process used in Step 1 of Marking Wall Channel
Locations.

Page 5



Mounting Rail L.ocation

1. If you are installing a Dura-Bilt Roof and Deluxe Three-Season Room at the same time, the Mounting Rail
is installed first. Read the appropriate installation instructions (Dura-Therm or Dura-Lock) for the proper
procedure.

H Mounting
ome \ Rail

Height

A

Deck or Patio

Attaching Mounting Rail for Roof
Follow the instructions provided with the Dura-Bilt Roof you are installing.
Install Floor Channel
Measure, cut and miter the Floor Channel sections.
Note: If you are installing a room that Does Not have a solid panel at the home wall, see page 12.

Place Right Side Floor Channel sections on deck with outside of the Floor Channel aligned with Line “A”
established in Step 1, Page 5. High side of the Floor Channel is to be inside room.

Deck or Patio

Continue laying out the Front and Left Side Floor Channel sections. Then make sure that the Floor Channel
dimensions agree with measurements given in the Project Planner.

Floor Channel Continued on Next page Page 6



All reasonable efforts must be made to make all the Floor Channel level.

Caution: The mitered Corner pieces must match perfectly because the vertical Corner Joiner extrusion will be
a tight fit in both directions in the floor channel.

All Channel joints must butt tightly together.

Helpful Hint: Place a long straight edge against edge of separate sections of Channel to assure perfect
alignment. When the Floor Channel positioning is correct, you are ready to fasten Floor Channel to deck.

The cut out for the swinging door will be made after the door is located.

AAN AN
ENCLOSURE
END WALL

'/ ‘ \ WIDTH
45° 45°
a5° |__ - 45°
./Notch\ ‘—ENCLOSURE LENGTH“ Notch\
Note: Corner Joiners will install only as J

shown with the notch at the top.
Left Corner (Applicable for Straight Line Roofs.) Right Corner

Drill 13/64” holes in Floor Channel every 12 inches.

Wood Deck: Caulk the underside of the Floor Channel covering all of the drilled holes and mitered cor-
ners. You must use the #10 x 1 hex head screws with the Magni 599 coating supplied by Dura-Bilt every 12
inches.

#10 x 1" HEX
HEAD SCREW

FLOOR
/ CHANNEL

PLASTIC LAG

Concrete Patio: 1. Use Floor Channel as a pattern to mark screw
locations on concrete.

2. Remove Channel and use a 1/4” masonry drill bit
and drill holes 1-1/4” deep.

4. Hammer Plastic Lag Shields into holes. SHIELD
5. Caulk the bottom of the Floor channel then Replace Floor Channel ) ‘% *
over the Plastic Lag Shields and Fasten with #10 x 17 screws. ‘ 1%"

Page 7




Install Wall Channels

Note: If you are installing a room that Does Not
have a solid panel at the home wall, see page 13.

Use the following procedure to install both Left and
Right Wall Channels after Floor Channel has been installed.

1. Cut the Wall Channel so it will fit between
Floor Channel and underside of Mounting Rail.
Note: The Wall Channel fits inside the Floor Channel

2. Drill 13/64” holes starting 2 up from the
bottom and spaced 18” to 24” apart.
Final hole 2” from top.

3. Apply a strip of 1”” x 17 foam tape
on the back of the Wall Channel along the
full length of edge. See Drawing.

4. Position outside edge of Wall Channel so
it is on the Line you marked on side of home.

5. Attach to home with #12 x 2 hex screws.
See Drawing below.

Wall

Channel \

Inside

1” X 1”
Foam Tape

Line “A” marked

earlier for
| Wall Channel
Outside Edge.

Outside

Short leg of

<—Floor Channel

is to outside.

Example of Right Wall
(Left Wall Opposite)

Wall of Home

Top View

Wall Channel
Of \

Right Wall .

I #10x 17
Screw |

Inside
Floor Channel

#12 x2”
Hex Screw

177 X 1”

Foam Tape

Outside

Page 8




Stage Two

Basics of The Wall and Door Panel Assembly

Wall, Door and Solid Panels have factory installed Panel Frames on each unit. You will be slipping the Panel
Frames of the Panels together and fastening them with screws to build the walls of the room. (Sliding Glass
Door Frames and Panel Frames are assembled at the job site.) Instructions for Sliding Doors are in a seperate
instruction.

Occasionally these instructions will make references to your Right or Left. It is important that you remember
these are based on your being outside facing the room.

Please observe that the Panel Frames have one side or “leg” that has an inset while the other leg is flat. The
Panel Frame leg with the inset will always be on your Right. The inset will slide behind the flat Panel Frame
Leg of the adjacent panel.

Helpful Hint: Your layout sheet provides the measurements of each wall Panel. Before beginning
installation of Wall Panels, take a few moments to mark location of the panel joints on the floor next to
the Floor Channel. This is an easy guide to make sure the wall is not “growing” or “shrinking” as you
proceed with the installation. The Solid Panels in each wall are there to provide the flexibility to correct
any wall growing or shrinking beyond acceptable limits.

Installation of Wall Panels

These instructions are written on the basis of starting the installation with the Right Wall. You may start with
the Left Wall of the room. However, this could cause confusion because the Left and Right references in these
instructions are based on starting with the Right Wall.

Also, the room is designed to be installed working to a swinging door or a corner, depending on the placement
and type of Wall and Door Panels. This “Keystone” concept results in a room that is solidly locked together
when completed.

For most installations you would (1) start at the home and work to the front corner, (2) work across the front
wall to the other corner. (3) Continue from the corner installing the other side wall to a swinging door. (4)
Then move to the home and work back to the door. With a swinging door as the last panel you install, it
provides the flexibility to complete the last wall of the room.

Another option is: (3) Move to the home and install the other side wall to the corner. (4) Slide the Corner

Joiner into position by inserting into Panel Frames about one-half or two-thirds of the way up the wall and
then sliding it down-and-in to its final position.

Page 9



Installing Starter Panel

1. You can begin installing Wall Panels
at either Right or Left Wall Channel.
This instruction starts at the Right
Wall Channel with the Right Starter
Panel. This panel has a Panel Frame
on one edge, start the other edge
(without the Panel Frame) into the
Wall Channel. Seat the Panel in the
Floor Channel. Do not fasten Starter
Panel in Wall Channel at this time.

2. Following your Project Planner, insert
Panel Frame of the next Panel into

the Panel Frame of the first Panel just
installed. Insert to the stops of the Panel
Frame. Fasten Panel Frame at top,
center and bottom of both inside and
outside of Panel Frame using #8 x 1/2”
self-drilling screws. Do not install
screws in Floor Channel at Panel Frame
until Corner Joiner has been installed.

Top View of
Right Wall
Starter Panel

v

Wall
Channel

™\

Home Wall

2”
@
A
Wall
T / Channel
=
&E Center of
b=} (¢]
= Panel
) v
it 2”
Floor Channel A

1. Before installation of the Door Panel, the Floor Channel Side Walls must be cut for the Door opening.
As indicated below, the door hinge side of the Floor Channel is cut slightly larger to accommodate the door
swing. Locate Door Panel and mark sides of Floor Channel accordingly. Remove Door Panel and cut side

walls of Floor Channel as marked.

2. Continue installing Panels by positioning each Panel, or Corner Joiner, so its legs will slide over legs of

Panel already in place.

3. Illustration on next page shows Enclosure Side Wall installed. View from top shows Frame overlap. Door
Panel(s) will install in the same way shown for Window Panels.

View from 36" Floor Channel
. Lower groove Floor Channel sidewall
inside -
Enclosure 2 {
1.
16
38"
Cut out for Inswinging Door
36"
. Floor Channel
Vl ew fI‘ om Lower groove Floor Channel sidewall [
outside > |
Enclosure

!

A
16

38"

Page 10




Note: The Door Panel is 3/16” narrower than the equivalent Window Panel. Allow 3/32” spacing on each
side when installing Door Panel. See Drawing Below.

Corner Joiner

lll
32

|———

Wall Channel
lu

32

T

£

|

T

Door Panel

Panel Frames

Installing Wall and Door Modules

As you continue to work from outside the room, the basics of installing the Wall and Door Modules uses the
same procedure as you have just used to install the first Panel.

4. #8 X 1/2” self-drilling screws
installed inside and outside where legs
on Panel Frames overlap.

#8 X 1/2” Screw
(Inside and Outside)

— -

Page 11

#8 X 1/2” Screw (Inside an



Installing a Room Under a Fixed Roof
(This is a special application)

1. Start by cutting four (4) pieces of 1-1/2” x 1-1/4” x 1/16” thick
angle so it will fit between the Floor and the bottom of

the Mounting Rail.

(You will need (2) pieces for the right wall and (2) for the left wall)

2. Drill (5) 13/64” holes thru the 1-1/4” leg of the angle in all (4) pieces,
2 down from the top and 2” up from the bottom with the

last (3) holes equally spaced between the first two holes.

See drawing.

3. Apply a strip of 1”” x 1” foam tape on the back of
1-1/4” side of the angle approx. 1/16” in from the
1-1/2” side of the angle.

(This is to be done to (2) pieces of angle)

Note: Left wall is opposite.
See drawing.

Right Wall
Shown

4. Place the inside leg of the 1-1/2” angle against Line “A”
that has been already established on page 6 then use a level
to plumb the angle, then attach to the home with #12 x 2”
screws, compressing the foam. See drawing at right.
(The foam fills in the gaps of siding or shingles etc.)

5. Install the Floor Channel by placing it against the 1-1/2”

Top View of
Right Wall at Home

Home Wall

leg of the angle you just attached to the wall. Make sure the
Floor Channel is square with the home and fasten with
#10 x 17 screws. See drawings on next page.

6. Install your first Window or Door Panel into the Floor Channel
and slide it to the home wall.

7. Install 1-1/2” x 1-1/4” x 1/16” thick angle against the left side
of the Floor Channel, making sure it’s plumb at the home wall and
fasten with #10 x 1-1/2” hex head white screws.

8. Repeat Steps 4, 5 and 6 for the left side wall.

Note: All other trim angles will be applied when the room is assembeled

L

1-1/2” Side —>

I
Line “A” —> |
I
I

See next page for more assembly examples.

Page 12



Installing a Room with no Solid Panel at the Home Wall
(This is a special application)

1. Floor Channel will be used as Wall Channel in this
application.

2. The Wall Channel will be altered at the factory for

you.
This will allow for a proper fit in the Floor Channel.

(See Illustration at Right)

<—Altered Floor Channel

3. Drill 13/64” holes starting 2” up from the bottom and
spaced 18 to 24” apart. Final hole 2 from top. ﬁ

4. Apply a strip of 1”” x 1”” foam tape on the back of the
Wall Channel along the full length of edge.

Floor Channel

Top View
of

Right Wall at Home afTer Room is Assembled.

1” X 1”

1” X 1”

Trim Angle il | Trim Angle
#8x1/27 EE— \#8 x 1/2”
Screw

Screw

Inside Room Outside Room

5. Attach Wall Channel to home with #12 x 2” Hex Head Screws.

Page 13



When possible,. it is best to work in both directions toward the Door location and install the door last.

1. Start at Left Wall Channel and install Panel identified for left Wall Channel only and work toward Door
location. Then go to Right Wall Channel and install Wall Panels, working your way back around to the Door

location.

2. If you are installing a second door, install that door using the same procedure
as you would with a Wall Panel.

Deluxe Front Header Cover
is supplied to cover the
overhang of Deluxe Front
Header. Attach with

#8 X 1/2” Screws.

Deluxe Front Header
End Cap

y

Deluxe Front Header Cove

Note: When Deluxe Front Header End Caps
are used with Deluxe Front Header Cover.
The Legs of the Deluxe Front Header Cover
will have to be altered back 5/8” to allow the
Deluxe Front Header End Caps

to fit into the ends of the Header.

Deluxe Front Header

3. If you are installing a Dura-Bilt Roof: After all Enclosure Panels have been installed, place Front Header
that you assembled in Step 15 over the Front Enclosure Wall. Note that Corners have been notched at top
to accommodate Front Header.

4. Level Front Header on the Front Enclosure Wall. Then raise center of Header slightly so that water will

flow to downspouts.

Page 14



5. Attach the Deluxe Front Header to the Panel Frames in the front wall with #12 X 3/4” self-drilling screws
inside and outside where Panel Frame Extrusions overlap. See drawing below.

Top view of Panel Frames looking through Deluxe Front Header

#12 x 3/4” screw

BT TP BT , 3@ 3838343032 _
J‘J‘J‘J‘J‘J‘J‘J‘J‘JJJ‘J‘ = ,l‘d‘J‘J‘JJJ‘J‘J‘J‘l‘J‘J‘J‘
20%9%0%0%0%0%0%0%9%0%4%4 i 12 a20%0%0%4%0%0%0%0%0%0%0%9
2020202 0%0%0%0%4%0%9%3%+ 1020202020 %9%0%0%0%0%0%4%9
S5 858585858545 8%5 85459787 5858585858585 8585858 %8
e e e e Fo@ o8 @ @ 8 8.8 8 8 8 .8 8.8
‘J‘d‘d‘d‘d‘l‘l - r‘d‘l‘i‘d @4 J‘J‘Q‘J‘J“ -

- o, -
S8 8T8 8 8 88 185858 8 858 8 84 858 8 804
‘Q‘J‘J J-J-J‘J‘J‘J ,J‘J‘J‘J‘z‘l‘:‘d‘d-J‘l‘d-l‘

o) - * -
254585050585 0% 0% 0 I 25050505 0% 0
| 0‘3‘0‘044‘0‘0‘J‘d J‘J*JJJ‘J‘J‘J‘J‘J‘J“‘J‘
el ) r U B B Bl B B )
2858 25908 & ot Bl
_ E et B B € b 2585858585858 28 8% 8
= e e e _ =t e e e
2585878585858 808049 . P B B Bl B B B e
220202 0%0%0%3%3%3%3%:%% 02029202 3%0%0%9%:%:% %
4‘4‘4‘1‘4‘4‘3‘4‘4‘4‘3 " o L =t J‘Q‘J‘J -
@0 09525242545¢

C o T &

¥ -
'S rete%0%0%94%0% oy
LTt E L o -
49229040924592432243434% - esrtesetesetetetetetet
C ool ot ot ol ol ot - et ot ot o o€ b Tl

#12 x 3/4” screw

Note: If you have an existing roof you can lower it and secure it at this time. If you have a new roof
install the roof panels now according to instructions provided.

Gable Ends

The Gable End Channel is provided in two parts to allow for easier installation of the Gable End when the
Roof Panels have been previously installed.

1. Cut the Gable End Channel to fit from the back of the Deluxe Front Header to the back of the Wall Chan-
nel.

2. Cut two (2) slots 1/8” wide X 1-1/2” deep into the top surface of the Gable End Attach Channel. This is
done so the Gable End Attach Channel fits around the Wall Channel. See drawings on next page.

1-1/2”

End view of the

Gable End Channel

for the right
side wall

> l<us ||l

Page 15



Note: The end of the Gable End Channel with the 1/8” slots is inserted around the Wall Channel above the
Room Side Wall Panels and then pushed down over Panel Frames until it rests on Panel Frames.

With 76-1/2” and 82” wall height, Gable End Channel will not seat fully on Panel Frames at the door.
This may cause a high spot in the Gable End Channel. It can be leveled by raising the ends of the Gable
End Channel. However, as you install #8 x 1/2” self drilling screws where two Panel Frames over lap
and intersect Gable End Channel, be sure to hit the Panel Frames with screws.

3. Install two-piece Gable End Channels with open side facing out. The Gable End Channel Clamp piece is
installed after Gable Ends are in place.

4. Gable Ends material for Straight Roof is one piece and must be cut in half diagonally corner to corner.
Gable Ends must now be cut to fit. See drawings below.

Gable End

‘ Gable End Channel

‘ /Channel yd Clamp Mounting Rail——>
‘ﬁ View of I‘ight side wall with
1 Og a(; eﬁa Gable End Channel pushed

‘ down over the Panel Frames
PN #3x 1/2” and inserted around the <—Wall Channel
Screw Wall Channel.
Gable End Channel
3 Outside Room \l/
right wall
W B
2"

T ¢ |-

o 1 | A -

5. Make the following measurements and mark them on the Gable End. Follow this procedure for each End.
Measure distance (A) from inside of Enclosure Wall Channel to back of Front Header. Measure distance (B)
from bottom of Gable End Channel to under side of Roof Panel. Mark these measurements on the Gable
End as shown in drawing.

Cut Notch (C) as shown to fit around Mounting Rail.

6. Cut the Gable End to your measurements. Check final size, it must fit from the back of the Enclosure Wall
Channel to the back side of the Front Header.

7. Follow same measuring procedure for the other Gable End. Page 16



Gable Ends for Dura-Therm and Dura-Lock Roofs

Install the Gable End Attach Angles with #8 X 1/2” screws every 12”.

Roof Panel

Gable End Attach Angle

Gable End Panel — 2 A

Gable End Attach Angle

Side Wall
Stiffener Angle

Gable End

Channel Clamp \
# |

=

Left Wall

9. After the Gable End has

been installed, if the Side Wall is over
10’ install the Side Wall Stiffener Angle
on the Gable End Channel with

#12 X 3/4” self drilling screws

in the pre-punched holes.

?‘»6 1/2”
Wall Channel

Trim Angle

Locate screws 1/2”
from back of Angle.

Place Wall Channel Trim against Wall Channel with one leg against home to cover weather stripping and
caulking. Caulk between house and Wall Channel before fastening Wall Channel Trim to Wall Channel with

five (5) #8 X 1/2” self drilling screws.

Wall Channel Trim is furnished in 120 lengths and must be cut to fit for both inside and outside of Wall

Channel.

Page 17



Use of Corner Braces may be optional.

Consider use of Braces as optional on Side Walls up to 12’ in length. Braces are recommended for Side Walls
more than 12 in length. Braces also recommended for all walls in “high wind” areas.

Installing Corner Brace on Room with Gable End Channel
1. Install Corner Brace Bracket on back side of Front Header with (2) #12 X 3/4” screws.

2. Attach Corner Brace to Bracket with two (2) 1/4-20 X 1-1/2” bolt with locking nut.
Do not tighten at this time.

3. Swing the free end of Brace to Enclosure Side Wall and position Bracket on Gable End Channel where
holes in Bracket and holes in Brace are aligned.

4. Attach Bracket to Gable End Channel with (2) #12 X 3/4” self drilling screws. Install and tighten all
locking nuts on 1/4-20 X 1- 1/2” bolts.

Corner Brace Bracket

l “orner Brace -

Brackets

Drill 5/16” hole in Stiffener
Angle to aligin with lower hole
in Corner Brace Bracket.

1. Install Corner Brace Bracket on back side of Front Header with (2) #12 X 3/4” self drilling screws as
shown above. (Instructions continued on next page)

Page 18



2. Attach Corner Brace to Bracket with (2) 1/4-20 X 1- 1/2” bolts with locking nuts. Do not tighten at this
time.

3. Swing the free end of Brace to Enclosure Side Wall and position Bracket on
Side Wall Stiffener Angle where holes in Bracket and holes in Brace are aligned.

4. Attach Corner Brace Bracket to Stiffener Angle as shown. Use (2) #12 X 3/4” self drilling screws. Drill
one 5/16” hole inside Wall Stiffener Angle to align with hole in Corner Brace Bracket. Place Corner Brace in
position and install and tighten all locking nuts on 1/4-20 X 1-1/2” bolts.

Installing the Threshold

1. Cut Threshold to 35-1/2”. Notch for In-swinging or Out-swinging door, as shown. Install with 1/4” plastic
lag shields and #10 X 1-1/2” flat phillips screws, unless Threshold is installed on a wood deck, in which case,
omit plastic lag shields.

Treads should
always be to the

outside. \

| . [

" End view of Y J
- © Threshold '

Threshold for OQutswinging Door

Both sides of the Threshold are to be notched the same.

L b
3/8__

13/16”

A —>| 12

Threshold for Inswinging Door

Both sides of the Threshold are to be notched the same.

Page 19 9| 1/2”




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


